S — N T Y —  —  — — — — — — " — "

A0/

|qfien @i 2038 | | SR FHw
IR AAE 203 HTeAY ; WISt e 65201706
% : 2:00 7 ¥:30 .
| ) ~LB
TR : | R40 OF{0
W | R ' - %
( e 7 s =] ;
T - o
L TONTR e ¥ R i g wrEfin Rt R S, 2
R, TR T CE 40 W I A HreRvarard Fheand tuo MR (s am) 3 dwam aden s 5
TR YR T T 3. FE W W e ok, %j

2 TR Y TR R I WA are Iw wn vt R s, "t I e Wi s ¥
37 A Agamn. TN ARG e e P wheRAET A L IS IR JEAE T )
v ot . anfae e v, et s T SR R T et st son o | b
fe@ wwm . e R} IW wzem dom i, E

Y. mmmmmmmmmmmﬁﬁhmﬂa
L. SERSIRA SR TS I A w5 . e SO 98/5T 8 WAy e &% .
€ T W TSR T St ave s . 55-v3
o, TERUTTEET HHIE, SN €9 BT EnEieTE e SEw . AL--SEA
¢. T yaneETEl Al ST aHae /RN e, as ‘IVE
fawm fawa W FHI ™
% e a3 0
3 Wl A0 30
3 TEHFETTE & AT £ R R0 30
' nfora 7 famm RY A L0 €0
%0. IAIITE FEANHIHE T FAH] IWUAHE Carbonless T (IFFTHT WM ) whand ¥ @t 3@ @

1. GO HYeUEE ARAgETe GEAETE WETR §Ig .

h. TAETEH e ST A SR Ve WA W S wive, SR AR e S
T W ThEAT IzaT @g Ea.

%3, ThETTEM dreréd, S ate, Seege, aieed, W R s et s .

ve. whemmd fafr Fech d@ seara glemdia @ serfie @a: ate T ST 339 IE TEET SR,
TIEE 92 FIVHA AR GANRel ya /v e srefiedie s s SR weE TR @ s
RIoT=1 AT ey wvamaraes sfufian- 2" arde wEdTen srar sam T,

. hETdE 9ere fafen 92 gF weaHaE A SRR dad ST dE S, TR gE BT fafka IR
HE g T4,

Q.B. Series - 102 Marathi/Maths-Science (Set - B) " 1 of 32



ASAS AN AU U USSR

001.

002.

003.

00s.

006.

007.

009.

Tl

TYHY WA WE2 st

(1) zuweh (2) e (3) w=mrR
S A WEETn e Y2 o 7

(1 m (2) #m (3) #am
fowundi wezidh s et S8 SR ?

(1) o x wHm (2) ?m xé
(3) mmE x =R (4) gem x @N
IS Ve .

(1) i (2) wedm (3) =i
fqé?htswu:im. ‘S e o w

(1) o sgrd (2) et fia
(3) wodt g (4) wrEE 2
‘wafiE’ @ TRER dww Tu?

(1) fa. =1 firamw (2) nTESd
(3) % A (4) s Fawl
‘e yatdie dwr’ @ Fegdred =0 So?

(1) wfa wora (2) fagem am (3) gwmw
HElOAgT We St

(1 =& (2) =i (3) @&

YA ST # qaw I TR, IR s,

(1) HacEmE (2) wgFET
(3) frEw (4) arRERITER
WU 1 VeI 399 .

(1) wm (2) = 3) n

(4) et

(4) 7=

(4) m

(4) w



011.

013.

ST I AT TR R i w R, (9. 5. 014 3 016)

T 3w TE T. T Y 3, 6 A R 86, W« 543 6 S e Yo sean.
R Warg e wf Rt S Yewen Red, o it Jee wifed SR, TRE SwEaE 3@
S T TE GG, 9 TS aaeT g e aReE SO g, S 35 faed e gl
FEE w0, 3 A T S6 S R, @i WoE o wew: T S0 WR. W6 39 T

sl /wda T o e s s s R ?

(1) Frkaws (2)
(3) @i (4)
Wi e H, A: T R RO

(1) =wes (2)
(3) == (4)
‘YR @ Wi 9§ S g e,

(1 -vvu (2)
(3) -vu- (4)

fordwy
L]

-
b i

-——U
U-u

NN NN NGNS

T FE SO Gl a1 SXal. GO ST - @ oo @ - @ oY @ U9 5ae g 8. Tiea
T T TR . WSS O SRS A Heien af JRel e,

014.

015.

016.

017.

T IS 5 NSNS SRU S 7

(1) TrewEt = (2)
(3) ve==rl s (4)
(1) w=fEm (2)
(3) wome (4)
RIS TG 3 SivEr?

(1) vearE Yo & (2)
(3) wfaae I = (4)
TR |IEW T IuTE] ISR RO 7

(1) =m & (2) wEm uEA (3)
HEARAHER 3E Y Hiw ?

(1) qos=o (2) quwm™ (3)

m \

_Fitarel WEE

frefom wita T
UG ERE G
I e (4) iEEg

JYH (4) yaF



elietlie

i

i

019.

020.

021.

022.

023.

024.

025,

026.

027.

028.

029.

030.

- T TheedEe TR AR Nl e TR ST AN A v IV RS S AN RS . A W EERRS S

H.W,ﬂ,a.m,m,aimmmm?

(1) e (@) a-sghd  (3) Rfm-wgh ()
TEATFAR IF o Wi ivean, _

(1) - (2) wr-mm  (3) mwemw (4)
e w9 et e o, e, e @ T s v SR
(1) i (2) b @ m @
-Hmmm"gmmﬁmmmm?

(1) = (2) anm (3) waamft (4)
fRrar=n ‘sewie’ @1 tum Foen g 61 w93 TR aRa?

(1) @ e (2) FawwRm  (3) wageRm  (4)
Iehe WIS ST HA1 @ grafav=a yegrean ¥9d v frwfa s ?

(1) s (2) mmfEE  (3) v )
I-7-7-Y R 0T JFEUR JeI IR 7 '
(1) Sz (2) wemwaE (3) st (4)
I IoHATEE 39 Rt T dom o SEwR B ?

(1) z=r= (2) ot (3) wgwm (4)
oo @1 e @ TR R ?

(1) @) ¥m 3) @
arft 91 A g faseor i ? |

(1) wameR (2) R (3) = (4)
WY g WA W, T TR FiS .

(1) Sfnpees (2) fidmree (3) fffease (4)

Ty S IgmE e
(1) 311& (2) (3) fasfm (4)

Ha @ AEG



et
031. Identify the figure of speech in the following line :
*O grave ! Where is thy victory 7"
(1)  Personification (2) Apostrophe
(3)  Euphemism (4) Epigram

032. Identify the part of the sentence which has an error.
He is well up / these days despite / having ill health / No error

A B C D
(A (2 B
3) C (4 D

033. Name the underlined ‘clause’ in the given sentence :

We come here that we may study.

(1)  Adverb clause of place

(2)  Adverb clause of purpose
(3)  Adverb clause of supposition
(4)  Adverb clause of cause

034.  Choose the one which is the correct ‘Question Tag’ for the given sentence :

*Everything is fine'.
(1)  isn’t everything? (2) isn't this?
(3) isn'tit? (4) isn't that?

035. Choose the mis-spelt word :
(1)  Asterisk (2) Audience
(3)  Acrue (4) Almighty

036. Choose the alternative which best expresses the underlined phrase :

He is out and out a reactionary.
(1)  deadly against (2) in favour of
(3)  no more (4) thorough



037.

038.

039.
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041.

04 2-

Select the combination of numbers so that alphabets arranged accordingly will form a meaningfy]
word : '

A S K 1 R H

3 4 5 ¢
ShT ks
. TEAS
(1) 26431 (2) $43126
(3) 513426 (4) 312645
RAkrs " KRASHT 3 '
Select the combination of nizmbers so that the parts arranged accordingly will form a meaningful
~ sentence:
2 ¢
I.  engagedinother 2. theyare 3. because 4. itis difficult
| 5 servants in big cities 6. Eg: findman 7. profitable professions
(1 4617352 ) 2534671
(3) 4653217 4) 7132546

State what part of speech is the underlined word
She likes the same colour ag I do.

(1) Adverb ' (2) Relative pronoun
(3)  Preposition (4) Conjunction

What does the underlined modal auxiliary express?

If it should rain, they will not come.

(1)  Supposition ' (2) Duty
(3)  Suggestion (4) Advice

Which of t_he following pairs is not correctly matched as ‘one - word substitution"?
(1)  Absence of government - anarchy

(2) Government by the nobles - autonomy

(3) Government by one - autocracy

(4)  Government by the officials - bureaucracy

Choose the grammatically correct sentence :

(1)  The population of London is greater than any city in India

(2)  The population of London is greater than any other city in India
(3)  The population of London is greater than that of any city in India

+(4)  The population of London is greater than most other cities in India.
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045.

047.

Choose the correct nlternative :

(A) Canvass shoes are no longer in vogue.

(B) Candidates arc not allowed to canvas for votcs on the day of the election.

(1) Only ‘A’ is correct (2) Only ‘B’ is correct

(3) Both ‘A’ and ‘B’ are correct (4) Both ‘A’ and ‘B’ arc wrong

Choose the odd man out :
(1) Trousers (2) Alms
(3) Scissors (4) Innings

Choosc the altemative which best expresscs the meaning of the underlined idiom :
Monika's habit of picking holes in every relationship is very irksome.

(1)  Admiring people

(2) Finding fault

(3) Criticizing pcople

(4)  Arguing with people

The specialist who cares and treats feet is -
(1)  Osteopath (2) Orthopaedist
(3) Chiropodist (4) Dermatologist

Which of the following is a rhetorical question?
(1)  Should a school have a gymnasium?

(2) How should onc keep oneselfl physically fit?
(3) Isn’t it a shame to torture the weak ?

(4)  What is demonctization?

Choose the correct simple sentence for the given sentence.

He finished his cxercise and put away his books.

(1)  Having finished his excrcise, he put away his books.

(2)  He finished his exercise by putting away his books.

(3)  To finish his exercise, he put away his books.

(4)  In spite of finishing his cxercise, he put away his books.
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Rend the following passage carefully and sclect the most correct answers of the given questions:
(Q. No. 049 to 053)

Though it may be essential to the imagination, traveling is necessary to an understanding of men. Only
with long experience and the opening of his wares on many a beach where his language is not spoken,
will the merchant come to know the worth of what he carries, and what is parochial and what is universal
in his choice. Such delicate goods as justice, love and honour, courtesy, and indeed all the things we care
for, are valid everywhere but they are variously moulded and often differently handled, and sometimes
nearly unrecognizable, if you meet them in a foreign land, and the art of learning fundamental common
values is perhaps the greatest gain of traveling to those who wish to live at ease among their fellows.

049.  According to the passage, traveling leads to -
(1)  exploiting foreign lands.
(2)  selling our wares to the others.
(3)  understanding human nature
(4)  establishing our superiority over foreigners

050. When we meet other people while we travel, we leamn to differentiate between
(1) friends and foes (2) communities and nationalities
(3) local and universal values (4) imagination and understanding

051. The writer terms justice, love, honour and courtesy as delicate goods because they are
(1)  important (2) desirable
(3) fragile (4) perishable

052. Traveling helps those who
(1)  want to learn foreign language
(2)  wish to make money

(3)  want to resolve differences among people
(4)  wish to leam fundamental common values

053.  The things we care for are available in foreign lands in

(1)  plenty (2) unrecognizable forms

(3) some form or the other (4) easily recognizable forms
054. Choose the sentence in which the correct articles are used :

(1) The old are respected by the young (2) An old is respected by a young
(3)  Old are respected by the young (4) The old is respected by the young




055. Choose the correct ‘prepositions® to fill in the blanks in the given sentence :

Don’tside _______  those who act contrary national interest.
(1) for, against (2) to,to
(3) to, with (4) with, to

056. Choose the word nearest in meaning to the underlined word in the given sentence :
There was no ostensible reason for her being angry at her husband’s remarks.
(1) Hidden (2) Covert
(3)  Apparent (4) Secret

057. Choose the word opposite in meaning to the given word :

‘Exasperate’
(1) Belittle "~ (2) Annoy
(3) Tarnish (4) Please

058. Fill in the blank with the hppmpriate passive form of the verb from the alternatives supplied :

He a written test before he was appointed. _
(1)  had been given (2) has been given
(3)  will be given (4) was given

059. Choose the correct alternative to fill in the blank :

I if 1 were you.
(1)  will apologize (2) had apologized
(3)  would apologize . (4) was apologizing

060. Choose the alternative showing the correct indirect narration of the given ‘Direct speech’.
The old man said to him, “Is your father's name Manoj?”
(A) The old man told him whether his father’s name was Manoj.
(B) The old man inquired whether his father’s name was Manoj.
(C) The old man asked him whether his father's name was Manoj.
(1)  Only ‘B’ is correct (2) Only ‘C’ is correct
(3) Both ‘B’and ‘C’ are comect - (4) Only ‘A’ is correct
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